Foundations of Algebra							Name:
Unit 6 Day 8 – Quiz 2 Review
Sketch a graph that has a…
  positive slope             negative slope            zero slope	 	    undefined slope
[image: Image result for blank graph 10 by 10][image: Image result for blank graph 10 by 10][image: Image result for blank graph 10 by 10][image: Image result for blank graph 10 by 10]

Find the slope between the following points:
					




Find the slope from the linear functions represented below.
[image: Image result for graph of a linear function]  [image: Image result for graph of a linear function]    [image: ]




Find the y-intercepts from the functions represented below.
[image: Image result for graph of a linear function]  [image: Image result for graph of a linear function]    [image: ]
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Convert the following to slope-intercept form.
[image: ]			[image: ]






Graph the following:
[image: ]
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Write the equation in slope-intercept form represented by the graphs below.
[image: Image result for graph of a line]           [image: Image result for graph of a line]           [image: Image result for graph of a linear function]
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